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HEMER

(1/2)
I=s TH X5 gLk HE | B =
EMTE (T Bt BAT DONEAL] 5680 m3 |2maw
g+ EHOCERIFLSESN N a171| m3 |[mgmTELYED

T B+ 1:20 [BHAEIYERYER 1,572| m2
BFHHAL 1,572 m2
sRZET LERERY 107.9| m2
FIZKHEK IS (AliET EHEQEAIE (%t A400 x 400 3283 m
#it B 3400 x 500 171.6] m
#it 7 FA 400 x 600 69.7] m
#it 7 FA 400 x 700 157 m
#it &7 FA500 X 400 900 m
#it#7 FA600 X 500 720 m
T M7 FH400 x 400 328 m
T M7 FH400 x 500 337 m
T M7 FH400 x 600 450 m
T 7 FH400 x 700 100 m
1 ¥ F3500 x 400 100 m
17 FA600 x 500 180 m

£AnT i e L

M2 g7 1|

M3 35T ) 1|

w4 3817 ) 1|
T HEHl PRYE 580 m3
HEL D 74] m3
%+ 497| m3
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HEMER

(2/2)
I= I X5 gLk ME | B =

BRIE HET =x= 7RIV Scm 9,219 m2
L ERAE FIEARE (M-40) 12cm 9,219 m2
NETE 9399452 (C-40) 12cm 9,219| m2
R ERIE H2 9399452 (C-40) 30cm 9,219| m2
-FL-ILT T riEAX  [Gr-C-4E 607.4| m
SHELDHT 568.3] m
TT i El PRYE 86| m3
D 61| m3
;e 18| m3
FEHMTE |RAKRAL 1| &R
MURE% 1| &R
FEER T 1| &R
EiTHavy)-b T 287| m2
SRZ T CEEIREE) 587| m2
F9MIIVAT H=1800 150 m
mREMEL H=1800 W=2000 1| &
TT HE A PR 132| m3
HE Al AA 21| m3
EHRL c 12| m3
D 19 m3
[z 7| m3
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s | EM EH(m2) w1y | =@ | 2w
NO. EE - W = =
(m) & < 5 (m2) (m3) (m3)
fC R 0.0 0.0 0 0
0-135 22| 96.1 96.1|  48.05 106 106
ol 135 96.1 96.1| 96.10[ 1,297| 1,403
1| 200[115.2 1152 10565 2,113| 3516
2|  20.0[125.2 1252 12020 2404| 5920
3| 200| 89.3| 122 1015 11335 2267| 8,187
4| 200 871| 82 953| 9840 1,968 10,155
5/  20.0| 95.1 951| 9520[ 1,904| 12,059
6| 200| 5238 528| 7395 1479 13538
7| 200| 29.8 298|  41.30 826| 14,364
8| 200 290 290  29.40 588 14,952
9| 200| 81 81| 1855 371| 15,323
10| 200| 138 13.8] 10.95 219| 15542
11| 200/ 00 0.0 6.90 138 15,680
£t 15,680{m3
YUt (G ELEYED)
s | X EH#(m2) ¥ | XM | ®2m
o | B —WE | t8 | 1B
(m) & < 5 (m2) (m3) (m3)
) 0.0 0.0 0 0
0-13.5 22| 34| 53] 29| 33 39 18.8 9.40 21 21
ol 135 34| 53] 29| 33| 309 188 18.80 254 275
1 200[ 11.1] 6.1 62 234  21.10 422 697
2| 200| 32| 41| 32| 60 165 19.95 399| 1,096
3| 200| 31| 42| 31| 32| so0 216 19.05 381| 1,477
4| 200 31| 42| 59| 220 28| 49 429  32.25 645 2,122
5] 200| 29| 25| 177 231  33.00 660| 2,782
6| 200| 28 22 62 91 203  21.70 434 3216
71 200| 25 22| 11.1 158/ 18.05 361| 3577
8| 200| 21| 22| 93 136 14.70 294 3871
9| 200/ 33| o6 3.9 8.75 175 4,046
10 200| 19 1.9 2.90 58| 4,104
11| 200| 48 48 3.35 67 4171
&t 4171|1m3
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Bih TE
FEET

252 7m2
_ /
EMAERALE (B (X FmiE)
EET = ( 960.9 + 192.3 + 252.7 ) x 1.118(BEZ1: 20D FI =)
= 1,572 m2
EFefmI= 1,572 m2---;Z@EAITICEL
RZT= 107.9 m2---XE&LY
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MKEEKIE

flET
BHAEAEERRSE
b5 HiE T A _ TEHTA _ _
& < 5 & < B XHE&Et
400 x 400| | 285] 27.8] 50.6 106.9] [ 13.0] 120 25.0 131.9
47.6 47.6 0.0 47.6
47.6 47.6 0.0 47.6
471 471 0.0 471
46.3 46.3 0.0 46.3
15.0 15.0 7.8 7.8 22.8
17.8 17.8 0.0 17.8
&&t| 3283 &&t 32.8
400 x 500] [ 33.6 33.6 5.1 5.1 38.7
38.0 380 | 11.7 11.7 49.7
50.0 50.0 0.0 50.0
50.0 50.0 0.0 50.0
0.0/ | 16.9 16.9 16.9
&&t| 1716 &t 33.7
400 X 600 0.0] [ 244 24.4 244
38.0 38.0| [ 10.0 10.0 48.0
31.7 31.7] [ 106 10.6 423
0.0 0.0
0.0 0.0
Bt 69.7 &&t 45.0
400 x 700] [ 15.7 15.7] [ 10.0 10.0 25.7
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
&t 15.7 &t 10.0
500 X 400] [ 90.0 90.0] [ 10.0 10.0 100.0
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
aEt 90.0 &&t 10.0
600 X 500] [ 72.0 720] [ 18.0 18.0 90.0
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
=1 72.0 &&t 18.0
EEh 747.3 SEEH 1495 896.8
=11 896.8
£k T
SOKMERERE
A FE ATk EES
M1 700 x 700 X 900 2
M2 800 x 800 X 700 1
M3 900 X 900 X 800 1
M4 1000 X 1000 X 1,000 1
g 5
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B 2 BE=0. 12196
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BEFE=16. 9m
Bl 2082=0. 2196

E i 282 MR 400 x 500

#iifE 90. Om
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kK IE

T
T (m3)
3 — —
15 20 Z5 1L meam BRELOD) Bt
10m¥HY = 10mZY = 10m%Y) =
1ERTSY & 1EATSY 1= 1ERTSY ——

flET
BHAERE | 400 x 400 328.3] m 5.085| 166.941 0.360 11.819 4685 153.809
bingaiigzs! 500 1716 m 6.235| 106.993 0.960 16.474 5.168 88.683
600 69.7] m 7.385 51.473 1.560 10.873 5.652 39.394
700 157 m 8.610 13.518 2.160 3.391 6.210 9.750
500 X 400 90.0[ m 6.355 57.195 0.450 4.050 5.855 52.695
600 x 500 720 m 8.798 63.346 1.158 8.338 7511 54.079
BHAE/E | 400 x 400 32.8] m 5.400 17.712 0.360 1.181 5.000 16.400
18 17 500 337 m 6.580 22.175 0.960 3.235 5513 18.579
600 450| m 7.760 34.920 1.560 7.020 6.027 27122
700 100[ m 8.940 8.940 2.160 2.160 6.540 6.540
500 X 400 100[ m 7.255 7.255 0.750 0.750 6.422 6.422
600 X 500 180 m 9.730 17514 0.760 1.368 8.886 15.995
H 896.8| m 567.982 70.659 489.468
SkmT M1 2| &R 1.949 3.898 0.718 1.436 1.151 2.302
M2 &R 1.681 1.681 0.437 0.437 1.195 1.195
M3 1|E&FRr 2.689 2.689 0.692 0.692 1.920 1.920
M4 ER 3.846 3.846 1.142 1.142 2577 2577
B 5| & f 12.114 3.707 7.994
=1 580.096 74.366 497.462
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EIRTE
fEx L EIRAS

A=2, 177m2

\

A—20m2

/ ///////////////////

Lx

A=465m2
A=2, 026m2}

A=2, 698m2
A=99m2

A=1, 610m2

HEI= 2 + 99+ 1610+ 2698+ 2177+ 20 + 465 +
2,026 + 19 + 45 + 17 + 8+ 7+ 19 + 7
= 9219 m2
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L=46. Om

g g
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& 9 o
vEE = o
.,éyoﬂf
&5,
Y
&
A=fu—n groar  TEP*J30 600
& & 4 120 = 120 = 600
120 = 120 < 600 = - um
L=2. Zm H—FL—)L —C-4E
L=223.
n—Fr-n
Gr—-C-4E ; 620 + 46.0 + 12.0 + 80.0 + 1120 + 720+ 2234 = 6074 m
A ) 236+ 156+ 432+ 1452+ 1008+ 240+

654+ 1140+ 26.4 + 47 + 22+ 3.2 = 5683 m
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BERIE

TT
T (m3)
b ]| R ERE(m) R EI (FR1E) HERELD) e
1omyY | 8 | 1omHy | EtE | tomy | L8
sEEIESH (120 % 120 % 600 568.3 1512| 85.927 1.080| 61.376 0.312] 17.731
it 568.3 85.927 61.376 17.731
= 85.927 61.376 17.731
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REMTE

TT
T (m3)
3 . " " — —
wal | Ba | we | mmGE® | mROU BELC) BEL(D) Bt

om%y | +8 |1omHY| +8 |1omuy| 8 [1omzy| 8 [1omHy| EE2
R ER I 1| AT | 131.528] 131.528 112.291] 112.291 6.760| 6.760
27TV 1500 m 1.317| 19.755 1.210| 18.150| 0.000] 0.000
FBE 1| &Fr 0.955[ 0.955 0.820] 0.820| 0.044| 0.044
A5t 131.528 20.710 112.291 18.970 6.804
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HERE

S5

4.33°
/ T _
TRESS e
X
\ EFT 5 av9Y—+
J=100 (18N)
\ A=287m2 o

T aEeA

3.79°

LA NC.
X=129 95
Y=-17 %ﬁ%
H=4 .504

MZKRAL

MU S 0

REERT
E$THa09)-+ [E100
BRZ CEERE)
#yh71VR2 H=1800

mBA=EF9BE H=1800 W=2000
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HEIH= BB HIE 400 X 400 it B 10 my
BB AliE (1 400 - HEETH)
AT 550
£kA
- ]
‘WU O _= | - ~
o © e| | a=400 A= FavsU—+t
W | 18N
i -< )
o= EEavs)—F
of B =L (18N)
éiw ' 7@ EERE
== 1 (RC-40)
° |
~ 50 Bl 50
50 B2 50
B3
TR £5
<+ *® (mm) 950
LS $2%E8 : 7 o
(axc) (ke) 100
. H e Bi B2 B3 150
| 400 x 400 | | 453 550 800
400 x 500 505 650 60 520 620 720 . =
400 x 600 565 750 S.ETEE
400 x 700 715 850 45 550 650 750
HH Rt | EEay £
B A EAIE (400 x 400 itk AR 2m/ & 5 7
@& A AT 10 m
400 = IUh-bET-25 4 15
YU—FUhET-25 10mIZ14% 1 8
AN —bavy) -+ 18N 0.400 x  0.050 X 10 0.200 m3
HHBEav))-+  |18N 0620 x  0.100 X 10 0.620 m3
R 0.100 % 2 X 10 2.000 m2
EERA RC-40 [E15cm 0.720 X 10 7.200 m2
T PEHI 0720 x 0150+ 1220 X 0.060 =  0.181
0620 X 0040 + 0550 X 0550 = 0327
0.181 + 0327 )x 10 5.085 m3
HEREL 0720 x 0150 + 0.620 X 0.100 + 0550 x 0.550
= 0473
5085 —( 0473 X 10) 0.360 m3
Kt 5.085 - 0.360 — 0.9 4685 m3
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HEIH= BB HIE 400 x 500 it B 10 my
B HEASEHEE (18400 #ikFH)
J Ay wT B650
AR
N
2 |
o i
- | \ i
w © & a=400 A=+ —+
b I (18N)
u WEaLsY—F
= Bi (180
o =1
Py o] HBRE
= (RC-40)
0
50
TER e
650
U4 BEFE <t & (mm)
axo (ke) 100
H e Bl B2 B3 150
400 x 400 453 550
400 x 500 | 505 650| 60 520 620 720 900
400 x 600 569 750 S L TEE
400 x 700 715 850 45 550 650 750
HH Rt | EEay £
B A EAIE (400 x 500 itk AR 2m/ 7K 5 7
@& A AT 10 m
400 = IUh-bET-25 4 15
YU—FUhET-25 10mIZ14% 1 8
AN —bavy) -+ 18N 0.400 x  0.050 X 10 0.200 m3
HHBEav))-+  |18N 0620 x  0.100 X 10 0.620 m3
R 0.100 % 2 X 10 2.000 m2
EERA RC-40 [E15cm 0.720 x 10 7.200 m2
T PEHI 0720 x 0150+ 1220 X 0.100 = 0.230
1150 X 0060 + 0550 X 0590 = 0.394
( 023+ 0394 )x 10 6.235 m3
HEREL 0720 x 0150 + 0.620 X 0.100 + 0550 x 0.650
= 0528
6.235 —( 0528 X 10) 0.960 m3
Kt 6.235 — 0.960 — 0.9 5.168 m3
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BRUH%eE B A flE 400 x 600 ks A 10 m2Y)
B HBAERE (18400 #tkrH)
AT 550
kA
N
: ]
U 9 |
i;lgm Tl o (A a=400 RV At S W EAVE
= i (18N)
= BEITU=F
=
=t =]
S =
= (RC-40)
50 Bi 50
50 B2 50
B3
TR 25
750
FEUE $EEE + * (mni)
(axc) (ke) 100
H e B2 B3 150
400 x 400 453 550
400 % 500 505 650 60 520 620 720 1’0(_)0
| 565 | 750 S TEE
400 %X 600
| 400 x 700 715 850 45 550 650 750
IEH Rtk | gX =
B R4 ECAIE [400 x 600 #itT 2m/ 7 5 K
@ A AT 10 m
400H= IU9-bET-25 41
JV=FUy ET-25 10m[Z1#K 18
1o\ —pav4)—F|18N 0400 x 0050 x 10 0.200 m3
HiEavy)-+  |18N 0620 x 0.100 x 10 0.620 m3
HEERI: 0.100 X 2 X 10 2.000 m2
HEEwRA RC-40 [E15cm 0.720 X 10 7.200 m2
T PEHI 0720 x 0150 + 1220 X 0.100 = 0.23
1150 X  0.160 + 0550 X 0590 = 0509
( 023+ 0509 )X 10 7.385 m3
HBERL 0720 x 0150 + 0.620 X 0.100 + 0550 X 0.75
= 0583
7.385 —( 0.5825 X 10) 1.560 m3
Kt 7.385 - 1560 — 0.9 5.652 m3
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HEIH= BB HIE 400 x 700 it B 10 my
B HEASEHEE (18400 #ikFH)
JUAYwT B650
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3 9
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& | (18N)
ERa T T—F
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o =]
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U4 BEFE & (mm)
axo (ke) 100
H e Bl B2 B3 150
:gg : :gg ggs gig 60 520 620 720 1'100
400 <600 565 750 '.'iIE-I-J:
400 x 700 | | 715 850| 5 550 650 750
EHHE IR | g HE
B A EZAIE (400 x 700 itk AR 2m/ 7K 5 7
@& A AT 10 m
400 = IUh-bET-25 41
YU—FUhET-25 10mIZ14% 1 8
AN —bavy) -+ 18N 0.400 x  0.050 X 10 0.200 m3
29—+ |18N 0650 x  0.100 x 10 0.650 m3
R 0.100 % 2 X 10 2.000 m2
EERA RC-40 E15cm 0.750 x 10 7.500 m2
+T Y2 0750 x  0.150 + 1250 X 0.100 =  0.238
1150 X 0260+ 0550 X 0590 = 0.624
( 0238+ 0624 )x 10 8.610 m3
BERL 0.750 x  0.150 +  0.650 x 0.100 + 0.550 X 0.850
= 0645
8610 —( 0.645 X 10) 2.160 m3
Lt 8.610 - 2160 =~ 0.9 6.210 m3
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BEfHE B A AIE 500 Xx 400 it b FR 10 my
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“T;fi " " : : 565
g U 4 BHHE ¥ ) mm
(a x ¢) (kg ) H ] B B2 B3 100
500 x 400 555 565 60 620 120 820 150
815
SETEE
HHE At | #X HE
B A EMAIE |500 x 400 HitkTFE 2m/ 7K 5 7
@& A AT 10 m
500 = IUh-bET-25 415
YU—FUhET-25 10mIZ14% 18
AN —bavy) -+ 18N 0500 x  0.050 X 10 0.250 m3
HH#Eavy)-+  |18N 0720 x  0.100 x 10 0.720 m3
EEERP 0.100 % 2 X 10 2.000 m2
A RC-40 [E15cm 0.820 x 10 8.200 m2
+T Y2 0.820 x 0150+ 1320 X 0075 = 0222
0720 x 0025+ 0.700 X 0565 = 0414
( 0222+ 0414 )x 10 6.355 m3
BRL 0.820 x 0150 + 0.720 x 0.100 + 0.700 X  0.565
= 0591
6.355 —( 0591 X 10) 0.450 m3
Et 6.355 — 0.450 = 0.9 5.855 m3
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HEIH= BB HIE 600 x 500 it B 10 my
BHAERE (1&600.#HtkrHA)
LRy 800
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N
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0 ‘ BI J 50
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THE 68'_(')
L= S 4 BEHE =t &+ {mm )
Ca xc) (ke H e B B2 B3 100
600x 500 695 680 60 720 820 920 150
930
S.ETEE
HH At | a3t B
B A EAIE (600 x 500 itk A 2m/ 7K 5 7K
@ AT 10 m
600 = IUh-bET-25 415
TU—FUhET-25 10mIZ14% 18
AN —bav9) -+ 18N 0600 x  0.050 X 10 0.300 m3
HEEavy)—-+ 18N 0820 x  0.100 x 10 0.820 m3
HEEER 0.100 X 2 X 10 2.000 m2
HERA RC-40 [E15cm 0.920 x 10 9.200 m2
T PEHI 0920 x 0150+ 1420 x 0.100 = 0.280
1420 X 0090 + 0.800 X 0.590 = 0.600
( 028+ 0.600 )X 10 8.798 m3
HBEREL 0920 x 0150+ 0.820 X 0.100 + 0.800 x 0.680
=  0.764
8.798 —( 0.764 X 10) 1.158 m3
Kt 8.798 — 1.158 = 0.9 7511 m3
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HEuHE B aEflE 400 Xx 400 i 10 m¥%L)
BHEAEAE (18400 tEETH)
b %0 b Sy
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L-% 3 il ind B a=400
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(a x ¢ C(ke) H b ¢ Bl g2 83 550
|| 400x a0 || 575 550 100
400 x 500 660 650 150
15 90 580 680 780
400 x 600 745 750 800
400 % 700 830 850 S.ETEE
EH Bt | gxX =
B AR 4A)EEIE (400 x 400 1&EMTA 2m/ 7 5 K
@ #EZ AT 10 m
400FH= TL-FuhE T-25 5 &
4N =pavh)—H 18N 0400 X  0.050 x 10 0.200 m3
EmEav9)-b  |18N 0.680 x 0.100 X 10 0.680 m3
R 0.100 X 2 X 10 2.000 m2
HERAR RC-40 [£15¢cm 0.780 x 10 7.800 m2
+T HEHI 0.780 X 0.150 + 1.280 X 006 = 0.194
0680 X 0040+ 0580 X 0550 = 0.346
( 0194+ 0346 )X 10 5.400 m3
BEREL 0780 x 0150+ 0680 x 0100+ 0580 x 0550
= 0.504
5.400 -( 0504 x 10) 0.360 m3
Kt 5400 - 0360 =~ 0.9 5.000 m3
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BHiUHE B R EAl#E 400 X 500 i 10 m¥%L)

BEAERE (18400 1EETAH)

A Be  S—F—FuL
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ol T i A a=400
H | R =P el
& : (18N)
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400 x 700 830 850 iIE-[-t
EH Bt | gxX W=
B AR 4A)EME;E (400 x 500 1&EMTA 2m/ 7 5 K
@ #EZ AT 10 m
400FH= TL-FuhE T-25 5 &
4N =pavh)—H 18N 0400 X  0.050 x 10 0.200 m3
EmEav9)-b  |18N 0.680 x 0.100 X 10 0.680 m3
R 0.100 X 2 X 10 2.000 m2
HERAR RC-40 [£15¢cm 0.780 x 10 7.800 m2
+T HEHI 0780 X 0150+ 1280 X 0100 = 0245
1.180 X 0060+ 0580 x 0590 = 0.413
( 0245+ 0413 )X 10 6.580 m3
BRL 0.780 x  0.150 + 0680 X 0.100 + 0580 X 0.650
= 0.562
6.580 -( 0562 X 10) 0.960 m3
Kt 6.580 -  0.960 = 0.9 5513 m3
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400 % 700 830 850 SETIEE
EH Bt | gxX HeE
B B4 ECEE (400 X 600 1T 2m/ &K 5 A
@ EZ AT 10 m
400 = JL—-FU9E T-25 5 8
Ay =Fav9)—F 18N 0.400 X 0.050 x 10 0.200 m3
EHiEavy) -+ |18N 0.680 X 0.100 x 10 0.680 m3
BRI 0.100 X 2 x 10 2.000 m2
HERa RC-40 [E15cm 0.780 X 10 7.800 m2
+T yEH 0780 x 0150+ 1280 X 0.100 = 0.245
1.180 X 0.160 + 0580 X 0590 = 0.531
( 0245+ 0531 )x 10 7.760 m3
BEREL 0.780 X 0.150 + 0680 x 0.100 + 0.580 x 0.750
= 0.620
7.760 —( 0.620 X 10 ) 1.560 m3
At 7.760 - 1.560 — 0.9 6.027 m3
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Em#Eav9)-b  |18N 0.680 x 0.100 X 10 0.680 m3
R 0.100 x 2 x 10 2.000 m2
HERa RC-40 [£15¢cm 0.780 X 10 7.800 m2
+T yEH 0780 x 0150+ 1280 X 0.100 = 0.245
1.180 X 0.260 + 0.580 X 059 = 0.649
( 0245+ 0.649 )x 10 8.940 m3
HEREL 0.780 x  0.150 + 0.680 x 0.100 + 0.580 X
8940 —( 0678 x 10 ) 2.160 m3
At 8.940 - 2.160 — 0.9 6.540 m3
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